5.2.1

S.2: The Natural Logarithmic Function: Integration

Using the derivative of the natural logarithmic function to obtain an antiderivative:
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Note that f(x) =Inx has the same derivative as g(x) = 1n|x| .

Therefore diln |x| = l . This means that f(x) = ln|x| is an antiderivative of F(x)=—
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Recall: The power rule for integrals jx”dx ==
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Example 2: Determmej gx
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Example 7: Find j
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Example 8: Findj 2x
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Integrating the remaining trigonometric functions: b\" Cos~X
Example 11: Determine Itanxdx = — 2~ X
‘,\’)L u/'\ —_ LV\
8—\'%'% M = SC-%% &JK- COS’K- <‘] %\ '_‘?§‘ O\U\- SL~ d/>6
— d\u —dw = i~ 0\94
T)\
) - - ﬁ"‘\“\\* ¢ = — Lo <c

Example 12: Determine cotxdx .
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Example 13: Determine jsec xdx.

Vseex dx
gc%'ﬁw

/

géacocaf%

— géﬂc_'x

Lec~ « -\AWXB M

SecNL - Avqr\x

(\

S2¢% « Yo~

g se_b ~N < SQC\FMV\'\/. M

U=z DRcY ‘\"’V\D"

%_:z - S—QC"%'SYN £ 22y

d= secrlontr ey

dx

Lo %\— o
g S e xhany @2“7‘ o SQZ% dbz_\ v
= — Aer [N

Example 14: Determine Icsc xdx.
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